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Q@D: E o
: ach : : th
of the following questions given below is bascﬂog;ital Efﬂployee 3

The dia a A
G til“ m shows three circles each representing Doctors, Experience
WeT W 1-2 : P y forel @ oLl fafénc®
: uﬁmqﬁé’rﬁ%anﬁawanmﬂa%lwﬁlﬂeﬁﬂqﬁfzﬂﬂﬂ
S T g e ﬁﬂ% H ¥ |
Y

Experienced Hospital )
Employee

(aﬁwehmmﬂmmrﬁ)
o (B

Post Graduate
(ETeIT)

Doctors

CIETEED)

oo «+2] Employ€es but arc¢
/1/ Which of the following represents such people who are Experienced Hospital EMP

not Doctors ?

(A) A Only (B) C Only 2
d C Only

(C) A and C Only @) Fan : HE 7

ﬁﬁﬁﬁﬂ?m@aﬁﬁaﬁﬁﬁ!m%ﬁ%@mmﬁ%ﬁwhmmﬁ

@) fak C
A) FaE A
©y fak A & C (D) far F ol C
. h people who are Doctors as well as Post Graduate ?

/ Which of the following represents S‘uc @ B and F Only

(a) D Only (D) B Only

) EOnly : s Ui R

5 o fafed®
() % D (D) R B
(C) fa®k E

i left and covers 20 m, then turns right and covers 20 m,

dtu :
an facing West g0€5 ] 1;‘103;' At what distance the man 1Is from starting point ?
3 s right and covers L S
then turns (
(A) 30 m (D) 50m
ey A mloﬁm%@ﬁmwzogﬁT;ﬁWme T
qa;’c‘aﬁﬁqﬁaﬂﬂa zoaaaﬁfi'a‘wm“”i'" oy e
3 fpe Tl ath 3¢ e (B) 20 e
30 = ' ) 50 Ll o l r T

(C) 40 5 MOQ.,
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In a certain code - ‘REASONING' is written as ‘TBFSMFMGP’. How is ‘AUDITIONg:
1 o Written
mn that COde { (B) CRRVMMRD

(A) JRVBRMMKS (D) SFTUFMHHM

(C) JEVBRRMMK s : )
®t % fora ¢ (B) CRRVMMRD® ' F1 $om™ .y
ETUFMHHM — ~L <> 4-7

(A) JRVBRMMKSA® D) S
X ¥s 2

©) JEVBRRMMK*
re arranged in descending order, within the number

If all it in the number 728195346 a
th: Ip;l;ietig::g g?‘ ;:Lw emr;ny digits will remain unchang(e)d: _ en -
(A) None gg; T\:o o
C) Three : ( e 1 U
;&mnswﬁ%%aﬁaﬁfrﬁaﬁﬁjﬁﬁmﬂwmmﬁml ‘ l, "
STl T B) @ (yIsarkl
(A) B T B ‘lll"\\\
(e (& E»pcﬁlﬁﬁacn
What should be in the place of Question mark (?) in the following letter series T

AC, FH, KM, PR, (7
A TV (B). XV ‘ *S
() WU ([;) gyf ~+
ﬁwmﬁuﬁﬁmﬁrﬁ(?)ﬂsmwwm. A A—S

AC. FH, KM, PR, (?)
g W 3 .
() WU 4 g
Statement : U v

p=N>D2G<B=J =
Conclusion : Ik <

@m P>G *');5 ¥

an G<l o +8
(A) Only Conclusion [ is true. (B) Only Conclusion Il is true.
(C) Either Conclusion I or 11 is true. (9} Both Conclusions I and II are true.
12 i

p=N>D2G< B=1J

('I) P>G

an G< i/

(B) Rk frepet 11 @& ¥

(A) fidy Poreepdl | WET ¥
(C) a @ P [ N &@ E

0 the hour hand of a clock face

(D) Prepd 1w 11 QT w1 &

s North and the minute hand faces South. At 2:45 the

At 123
minute hand will be in which direction ?
(A) North - Wests (B) West
(©) South - East (D) East
12:303€rwu€raﬁﬂ%ﬁaj@maﬁeﬁramﬁazﬁqéafhwﬁam% | 2:45 ot P A G
fpe faam & g 7
(A) TEIEE (B) R &
D @ e fF
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If on
c S(al‘ equ
. als to four e
of ' 0 four . . ;
star to diamond 9 circles and three circles equal to four diamonds, then what is the ratio

(A) 1:3
R B) 3:4 . :
T E . (C) 3:16 (D)
AT 910 g ¥ qn 1 ge & qoae g A ¥, @@ ant w1 i ¥ AT

(A) 1:3
B) 3:4 (C) 3:16 (D) 16:3

16:3
FME ?

If BEAT = »
you code BURST ?

=26 - 7 and RUST = 9 -6 -8 7, then how will

(A) 25 98
=0
©) 2559_8_78_? (B) 25-9-6-8-7
aR BEAT = 25— 27 5 D) 25-6-9-8-7
(A) 25-22 9h3-26_7@;RUST=9‘6—3—7.HHGMBURST3?IM§2$’5I?
it ol Sk
(C - (B) 25-9-6-8-7
Pt o D) 25-6-9-8-7

If the number i
rin i Sl
the circle indicates the number of persons, then how many youth graduates are

there ?

Al gu ¥ & T den i @ den weRia F E @ R gar T ¥ 7
— —

Yo
(outh Graduates g
) () .
I\
}5) )"3'_‘-i
Employed (Fraife)
(D) 50

(A) 20 (B) 30 (C) 40

other today is thrice that of her daughter. After 12 years, the age of the mother

The age of a m
daughter, the present age of the daughter is -

will be twice that of her
(A) 12 years (B) 14 years (C) 16 years (D) 18 years
s Y o TG A 80 AT A |12 el 35 O A 9 S X 3 g
3 @ adar 93 ¥ -
(A) 12 ad (B) 14 a4 () 16ad (D) 18 a¥
i baby cuts @ cake into two halves and cuts OT)C half into small.er pieces of equal size.
M 2 gﬂ?atze = mall pieces is twenty grams in weight If she has seven pieces of the cake in all
w?th her, how heavy was the original cake ?
(A) 12’0 grams (B) 140 Llff.lms (C) 240 grams (D) 280 grams
afffamﬁﬂﬂaﬁaﬁﬂﬁ‘iimﬁﬁ*'zﬁ'%@waﬁmﬂﬁaﬂﬂwﬁmwﬁm
gﬁnz&\%m—éfﬁammaﬁﬂ“mﬁ | afy s T % & B AT GHS B, W AN 66 H o
PoaeT 1 7 -—
(A) 120 T @). M i (C) 2407 (D) , 280 7™
4
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}/ Pointing towards a boy Shahrukh said

. ‘he i
How 1S that boy related to Shahrukh ? is the son of the on|
nly son of
my grand
father:

( B) Brother

(A) Cousin
© Uncle (D) Brother-in-la
@aga;aﬁmssmmﬁgq@ﬁm ‘T8 A TETON & THAT s
émaﬁﬁﬁﬂ%? T H P | T T ey
(A) T (B) Wi ISP RATCY |
€ T (D) W T SRR AN
15 Find the odd word out.
(A) Hate (B) Love (C) Anger (D) Cry
Ry T @1 T A | -
= C) ® :
(A) T ® . © % (D) T

ks 5 kms north, then turns left and walks 3 kms. Then again tums

1}/ A starts from @ point and wal
left and walks 5 kms. Point out the direction in which he is going NOW-
(B) South-

(A) North
(D) West

(C) East
A@ﬁg%mﬁmwfamﬁswwtmw@Tg@ﬁ3%ﬁ-aﬁm% 1
mga@mws%ﬁw%lmaﬁmﬁmﬁmw%aﬁﬁﬁwﬁﬁﬁ? {
(A) W (B) gfaoT "
(©) q;é (D qfyed /{‘
) rE‘i'S A 7
@F:216::L:? ulh
(A) 1723 B) 1728 (C) 1700 @) 1600 =U ~|
)i/ Find the odd word out. F ‘ \
(B) Moon - Planets” él 0 d

(A) Sky - Stars

(C) Stadium - Players
fm g 91 BT T CalEp)
(A) emadl — sl

() wfemd - faarel

(D) University - Students

(B) =l - WE
(D) Pyt — frene

the series.
D _F_DEE_D_EF_DE_F
(A) EFFDED " 2 '
(C) EFFDFE Eg)) EEFDDF
SEFFDE

fr= gof ® B AAT '
qa ¥ | G feene
D _F_DEE_D_EF_DE_F s W AL
(A) EFFDED -7
(C) EFFDFE S;; EFFDDF
: EEFFDE
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: fore these
) . ation Skills there
The followlng 6 questions are based on the Interpersonal & Communicatio
i

tems do not have Hing; Version.
ﬁ“f%‘fhaﬁ(m)nmﬁ(ﬁ.zoazs)%mqﬁisw a1 e T T R
Frefafes 6 ST e ot e ater & whew % fo ¥ | o §F G A _

ST @ E ':g:;“‘ ' o

A no
50/ A hostile sityation resulting from opposing 'views.
(A) brain-storming (B) compromise ¢

(©)  consensus (D) conflict

X The person is awarded is a soldier father is a farmer.

(A)  Whom, Whose
(C)  Who, Whose

(B)  Whose, Who
(D) Whose, Whom

22 The word that describes an action is

(A) an adjective (B) an interjection
(C) an exclamation (D) an adverb

}B/ Communication includes —

(&) Language clarity (B) Facial expressions
(C) Body language (D) All of the above

;4 A connects phrases, clauses or sentences.

(A) Noun (B) Conjunction

(C) Adjective (D) Adverb

25 A group technique used to develop many ideas j
(A) conﬂictﬁ:ﬁ

(C) compromise

n a relatively short time,

(B)  consensus

(D) brain~storming

212 B %



;/ Fill in the cOrT®

(1) They _NEED

@ You_—— keep Y
come often.

join

owing 6 (six) ‘questions no. 26 to 31 :
re based on the Interpersonal & C icati
; e ommunication Skills therefore these

* fora fdeT ¢

%Wﬁm*mtlm:ﬁg,ﬂsﬁmmmmm

3) She ——
B d to (b) dare 10 iz)lzlaght to (d) need t0
(a) used 10 :
@A) (D) 2)-d), 3@ (4)-(b) (1)-(d), (), (3)-(:), (:) E:;
© )-® 2)-(b), 3)-) (4)-(d) @) - 2)-@), 3D 4)-
i i «Smell’ is
Th ¢ spelling for the term which means Sme
7 (A; TA; (B) Oder Aude-
(C) Fauder (D) Odour a ler sl
A l
2  The plural form of the word ‘genius’ is ath ) Orre e) do
(A) ‘geniuses (B) geni
(C) geni (D) geniusses
307 The synonym of the word ‘ff’__‘{i_',iiy/,is )Jd.,; 1)
(A) dignity (B) obedience
(C) smart (D) handsome

}‘/ Choose the most appropriate optio
A relief team was sent to
(A) contribute GyA

(C) sanction

212 B c myM ‘ﬁ;
|

pWrc

n and fill in the blank.
food and medicine among the refugees.

(B)
(D) separate
Q2oL

distribute LM 518

7




3
@ Match the terms with the meanings given.

(1) Misanthrope (a) Fear of strangers

(2)  Polyglot (b) Spending excess moncy

(3)  Xenophobia (c) Person hates all mankind

(4)  Squandermania (d) Person speaks many languages

B Y a1 e R ond % A .

(1) Preia (a) o @ T

(2) vt (b) et o)

() iR () e FEd § g Ee A i
4) R d) & s

(A) (D), (2)-(d), 3)-(a), (4)-(b)
(€©)  (D-(b), (D)), B)d), (4)-(2)

Match the following terms :

@)-(c). 3)-(b): (4)-(d)

1)-(a),
B) (1)-@) (4)-b)

D) (1)-d), 2@ (3)-(©),

Study of atmospHer¢ climate

(1)  Palaeontology (a)
(2)  Ornithology (b) Study of insects
(3) Entomology (c) Study of the foss
(4) Meteorology (d) Study of birds o0
P w& &1 e S o
(1) Afemiems (a) aTGHVEH WeETg HT STEET
(2) e (b) @ & FEEAT
(3) TR (c) ofarsH @1 rerEd
(4) DT (d) ufFEi & e
A) (1), @-(d), Brb). @)-@) (B) Q). @-(b), B)-(c). (4)-(a)
© ()@, )-0). B)-(©), @) ®) (?\i?-(b), 2)-(¢), B)1d), (4)-(a)
o)
3/ Match the following : o0
(1) Ophthalmologist (a) Who treats kidney-diseases
(2) Neonatologist (b) One who treats disease of the
nervous system
(3) Nephrologist (c) One who treats critical infants
(4) Neurologist (d) One who treats vision problem
P 1 e BT — N
(1) sifedmaie (@) @ S R @ A @ PR d
@) W@ 7 o dfm-aT S0 @ P T ¥
3) IpEe - A —~fe) TE o AR Rafa g Figgst &1 Prem
ir wa ¥ | ™)

it

@ o

(A)
(C)

212 B

(1)-(d), @)-(©), 3)-(a), (4)-(b)
(1)-(b). D)), (3)-(a), (4)-(d)

7€ W i " avEn & frem e &
B) (D), (2)-(d), 3)-(b), (4)-(c)
(D) (1D-(e), (2)-(a), (3)-(b), (4)-(d)
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her of T. T is the sister of Y. Y is married to L. L is th |
s Lo e only son of K.

35 to 37 - B is mot
<.~ the daughter of P. e
*"5.“65 37 3 aﬁﬁB%:Yﬁw?‘%r\m/m;m\faamgant -
ragKE! N c@\/"‘%——"—m—ﬁ—}m |
P = p
}q How 18 T related to L3 N N ~
Cousin <! ister = @.‘__Fﬂ
(é)) Sister-in-1aw N (D) Can't say C‘c"‘:“/
o 5
7 L fe@ TC N
(B) w&T - «m”T
:8 :Tag g (D) el e S HHl K_,X/»,C‘/
| k-
i ? A) )
}ﬁ H;)w l;glst;:lated ol (B) Mother - in - law ')é/bnm
:C ) Sister - in - [aW . (D) Grandmother R
B. L & foq dC gefa & 7
) B)
(C) @ (D) T
% 5
3/ If K is the mother of X, then:glow is X related to I =
(A) Granddaughter N (B) Graljdson
©) Daughter 3y (D) Can't say
ﬂ%KXﬁwi,aﬁX,Pgﬁfﬂa‘(ﬁﬁﬁﬁ%? _
(4) 2 @)
€ T (D) @&l TE S FH
lowed by two conclusion numbered

estion below are given

Q.38t040: In each qu
ke the given statemen

I and II. You have to ta
known facts. Re

three statements fol
ts to be true even 1

ad all the conclusions and th

be at variance with

en decide which of the given conclusions

mmonly known fact :

if they seem to

commonly
logically follows from the given statement, disregarding €O
mmssho:musﬁﬁ% zauﬁ%maa’rﬁesémlqa'uﬁﬁna%lmmrqm
avf_fﬁaiatﬁﬁqrﬁfaﬁem’faﬁw %laﬁﬁﬁsﬁaﬁqﬁﬁeﬁaﬂaﬁﬁ%mﬁaﬁﬁﬂn&muﬁ
ﬁuaﬁamﬁﬁ&ﬁﬁﬁmmwaﬁmmﬁm.wmam‘fﬁmgq, & § |
3% Statements - o

No beggar is poor.

Some rich are begegar.
All classes are poor. ™

Conclusions :

I All rich being poor is a possibility.

1
(A) Only conclusion | follows.
(C) Either conclusion | or 11 follows.

RIE O

aﬁ'{%ﬁﬁtgﬂiﬂﬂiﬂﬁtﬂy
= X §
l Yed T dral
1 “‘ﬁﬁ‘ﬁﬁa‘fs‘ﬁaﬁﬁmﬁm%ﬁl
fads Prepd 1 araTor e ¥ |

(A)
4 Presd | a1 11 @O &ea & |

€ @

212 B

All beggars being classes is a possibility.

(B) On!y conclusion Il follows,
(D) Neither conclusion I nor Il follows

(B) fad freard 11 srgamo
() ““”Wlﬂﬁllmm%m[m%u



?y Statemenyg :

Some Kartik are Shyam,
Some Ajit are Sujit,

All Sujit are Shyam,
Conclusiong :

1
11
(A)  Only

All Kartik being Sujit is a possibility.
Some Shyam are not Ajit is a possibility.

conclusion 1 follows. (B) Only conclusion II follows.
(C)  Either conclusion 1 or 11 follows. (D) Neither conclusion I nor II follows.
YA
IS B, yam & | )
¥ o, g ¥ | (ﬁ D
o giv, sam ¥ N TN
ﬁl‘ﬁ?ﬁ : ‘

I wm@rwﬁ%ﬁmt.
I 35 @am & o 8 @t wwren 86 &
(A) ﬁiﬁﬁﬁi&lmm%t (B) fré fremd 11 srgecor sxar &
©) =& e [ a1 I1 orgeeer aar & (D) 7 frewd 17 & 1l srgewr scar &

ﬂ) Statements :
No 90s are 80s.
Some 90s are 40s.
All 80s are 70s.
Conclusions :
I All 80 being 40 is a possibility.
I Some 70s are not 90s.

(A) Conclusion I follows. (B)  Only conclusion 11 follows.
(C) Either conclusion I or II follows. (D) Neither conclusion | nor follows
I
#1 o 90, 80 T ¥ W
7o 90, 40% |
av 80, 70 ¥ |
foreapd

| 80, 40 B B FTE &

B
(A) mﬁﬁﬁlaiﬂ‘"mtﬁlmtu :D) g e
© ar @ Frepd 1 @ 11 HTE ) “mﬁﬂlwﬁllmmtl

10
ot




/Find the minimum number of straight line required to make gi
g T R et a1 g T e shfr S

A 9 7o b% B 12 ©) 15 D) 16
9/ Find the number of triangles in the given figure.
& w8 o q el B FE T AR |
..,.A’,
© 8 (D) 10

(A) 5 (B) 6
g element should come in

43/ Which of the followin
PELIC L) (?)%Wﬂﬁﬁﬁﬁaﬁﬂmaam ?

a place of (7) ?

AB3 CE6 FI10 JN15 ?
(A) O0T20 ' (B) TO2I () OT2l l (D) TS21
44 Study the following and answer correctly. é
/‘V Statements : Ag (@E o, e
Some Mangoes are Bananas. & )
Some Bananas are Apples. 4 -3
Conclusions : T'\ /
I Some Apples being Mangoes is 2 possibility. @) 4 Y
I No Apple is a Mango. A 5 *g
(A) Only Conclusion I follows. (B) Only Conclusion II follows. .
(D) Neither Conclusion I nor II follows.

(C) Either Conclusion I or II follows.

meﬁmﬁﬁmﬁml
Y -

5 o, B E I e e - 3N c.,%ﬁ
3% &, 99 ¥ | u\w‘)" ’ﬁ_@
[ @éﬁaﬁmsﬁaﬁﬁmh

11 o o da, o TE ¥ |
(B) Wﬁ'&ﬁﬁ]lmm%l

(A) ot P | ST T E |
(C) ma’lﬁﬁélmllwmil (D) 7 @ Frepd 17 & 11 o
HIF |

15/“‘ cloud is called white, white is called rain, rain is called green, green i
, green is called air

air is called blue and blue is called water, where will the birds fly ?
(B) Cloud

(A) AIr
(C) White (D) Blue
atpz @ aut el SN, A B ET HE A, €W @ w1 HE Y

ofr aEd @ qhe HE I,
waﬁﬁmwmqﬂﬁmﬁmﬁmm,a‘waﬁmﬁaﬁ?
(B) w&wd

(A) ®&dl
(D) e

(9/11&71
i e - LFC
; whe ad

ed - o gq(,.n/lm rﬂq"\'-%l/)

t al

fred



) pare Of the middl
6) Ifth ; i 15 watlstheq
e sum of three consecut!Ve numbers 15 77 25
(A) 16 B . be de rermined-
Can not D€
(C) 36 D) e 7
afs & gamTa weE &1 an 13 7, @ 7A W(B) a‘;;a;“ .
(A) 16 ) gadT
1
(C) 36 o) =& ol
2’/ Fill up the following.
PENCIL : GRAPHITE : gLt g
(A) Pen: Refill (B) House€ * Bricks
(C) Car : Steel (D) Dress : Wool
Prer @1 g Hifod |
Ifad ; TERE ¢
(A) T P (B) WM : 32
(C) @1 & (D) 39 A
4 2 i 9 \ &
9 8 "%
126 168 216
(A) 8 (B) 3
e e (D) 36
4 How many Mondays are there in a particular mo th of i : s
)/ wednesday ? nth of a particular year, if the month ends or
A) 4 B) 5
(C) d (D) Can not be spe .
: fi
a&:qa%aﬂmgaaﬂﬁs‘ma a’rnﬁmaﬁﬁmqﬁﬁﬁm—;’ e
4 "Ha g ?
(A) B) 5
i R B 15 R g S C and D such that
hare = B’S sh
A’s share : BS S B : share : C’s share = C’s share : D’s share = 3
How much is C g shar€ A
5. 1750 @ A. &t D % dr 3@ www afer ¥ Ry
Aa,—,qm_aamvrm B &l MM : C& 5 =Ca& Hm:p 3\ ' gqmi‘
R ¥ 7 oF W= 23 "
c @1 A ' 4 an "
480
o .
@) 216 YT L
—
’3?3 ¢

' G rer
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51

52

53

54

55

if "C_,. LA%6 and " r o =3024. find n and x.

= 3024 z‘r.a’fnqummﬂamaﬁﬁaa.

af "C, =126 ot " Py
79 B) 84
(2)) 8. 3 (D) 9.4
( s
50 minutes t0 cover a certain distance at a speed of 6 km/hr. If he walks with a
i m?inotfalfgskmmr, he covers the same distance 1N ]
Spé;e 10 minutes (B) 20 minutes
(A | !
D) 40 minutes
© 30 minutes (D) e e
ﬁﬁﬁmﬁnﬁ@rm@aﬂaﬂ%ﬁqﬁaﬁﬁaﬁsowﬁrmm
6 . j
ﬁnﬁﬁﬁmt,ﬁaﬁ@ﬁmﬁmﬁaﬂm .
@A) 10 fre @) 20 e
| (D) 40 Fr

Which is the largest : ﬁ, %, §/§, % ?

ﬁ,%,%,%gﬁ@mmm%?

@) V2 , ® B
©) B o 5

The average age of 14 students is 14 years. If the age of the teacher is added the average increase

by 1. What is the age of the teacher ?

(A) 32 years (B) 30 years

(C) 28 years (D) 29 years
14famfiiﬁa?raﬂaaarrgl4aﬁ%|u&'f§rmaﬁ SIS
fa® B Ag FNE 7 omg Wi @ Rl ¥, @ offwa | ¥ w5 W
(A) 327 (B) 30 a9

(C) 28ad D) 29 9

18 people can do a work in 45 days. T i
D e ¢ ys. To complete the work in 30 days, how many people would

18 s fady @ @ 45 e # : '
sagawa A 7 T T ¥ 1@ @30 R F qu wd g et st @

((2) L;Z (B) 21
: (D) 45

212 B
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S6

37

58

59

2

A boy ; 11 be half of the age  ©
his fathirprs's‘mtly one-third of the age of his father. After 7 year® herle !

» FInd the present age of the son. i
(A) 12 years (B) 15 years
© 10 years D) 7 years
:;’?aﬁ T T oY o R &Y amg Y s frerd |7aﬁ%6usﬂﬂﬂﬂﬁmmﬁmﬁqﬁ

AR cE RS g T AR |

kR (B) 1574
©) 10 ¢ D) 7

Which option contains the fractions in ascending order ?

B R & R omid A ¥ 7

11 13 18 9 9 11 13 18
@ T HT B] Tmsrowmuey
1271772313 13712717 23
o L1891 9 1318 11
© 12723713717 ( 1317723712

A person has some hens and some cows. The ratio of number of heads and number of legs is
18:43. Find the number of hens, if the number of heads is 72.

et % u@ 3o Tl o gm T ¥ R @ wen o T A wen @ erqar 18:43 %
afs gl @ wear 72 &, o gifar @ e T s |

(A) 58 (B) 60

©) 56 (D) 62

A tank is normally filled in 6 hours but takes 4 hours longer to fij) because of a leak in its
If the tank is full, then the leak will empty it in how much time 2

bottom.
B 12
- 20 hr (B) hr
B (D) 15 hr
©)

@m-‘m?famma:ﬁﬂ%mﬁtﬁﬁﬁﬁﬁmm%ﬁwsﬁﬂﬁﬁWﬁ%mwﬁ?'

@%;:_ s @, 7 fom 0 R @ A TR wE

A o B) 12 v
0

(A) 2 (D) 15 ey

oAl
© ' . e P

212 B



61

62

it (60-61) - -
ﬁaﬂaﬁtﬁaﬁﬁ@#ﬁmw (Fra g §)

Direction (60-61) :- Study the following graph to answer the given questions :
i

Producfiﬂﬂ of a company (in lakh units) over the given years.

ﬁ&@nﬁ%mﬁﬁgﬁwﬁmmm g A

33 -

units in lakh / geEal @@ ¥
[y
Ln
1

5' 1 . i us ear .

ﬁﬁﬁﬁ@mﬂqﬁﬂﬁwﬁmﬂuﬁsﬁqﬁ;g ?
(B) 1999

(D) 1997

(A) 2000

(C) 2002

What is the approximate average production (in lakhs) for the given years ?
ﬁﬁnﬁaﬁ&sﬁaﬂmﬂaﬂmmﬂ(ﬁmﬁ)m% ?

18 (B) 185

(D) 20

(A)
C) 19

ontains 25 paise, 50 paise and | Rs. coins. There are 220 coins in all and the total amount
éb;g ‘Lag is Rs. 160. If there are thrice as many 1 Rs. coins as there are 25 paise coins, then
in the ; ; |
what is the number of 50 paise coins ?

' i ' | g 220 fah & da1 & § g @9 ©. 160
ﬂzsaﬂ,soﬂﬁ@ivﬁ%mﬁﬁtmﬁﬁwwo _ -
??ﬁlmﬁ%ﬁaﬁzsﬂﬂ%mﬂﬁméﬁwa,aHSOﬂﬁaiﬁrﬁﬁﬁﬁm:ﬁmg ?

(B) 40
(A) 60 :
©) 120 (D) 8

i :



63

64

65

ing in the sam;
When running
Two traing length of 130 m and 110 m run on para”C' tracks.

. 3 i [ 0.9

direction, fagter train cross slower one in 20 sec. While ruﬂ“'nf I:ch train.

SPpeed they pass cach other completely in 12 sec. Find spees, OL/F P
. o

130 # sz 110 2wy 2 31 et wefealf we o @ # ‘@aﬁWﬁT:zéiﬂﬁ@— W

MR <t 21 9 20 4  wre 1 oy e P T ¥

lzﬁaﬂrwmmm% | v 31 A R o A |

(AYIB0 ms, 20 mys

0 ;

pposite direction at thej,

(B)16 m/s, 4 m/s
(C©) 20 m/s, 8 m/s

D) 15 mss, 27 m/s

N

A batsman has a definite average for 11 innings. That batsman score 120 runs in his 12th inning

duech which his average increased by 5 runs. Accordingly, what is the average of the batsman
afteryd2 innings ?

@%ﬁ(batsman)ﬂllgﬁmﬁﬁﬁaﬁaﬁm% | 38 gwea A 124F 3§ 120 o &1 @
o g HTeor SHa! offta ® 5 G @ gfs &2 lﬁm%uiﬁ?ﬂﬁgqgaﬁqﬁmaﬁmm
7

A) ?5 (B) 60
3

(C)'::ﬂo D)y 72
N
)

A gman scored 125 runs which included 5 boundaries and ¢ sixes. Wh

core did he made by running b/w the wickets ?
S

qa;aﬁamarlZSﬁWWWWSﬂIG%fIGHﬁWQW&I

at percent of the total

T P @I &1 o

® (Mo Page )
|
B
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Q. No. (66-70)

Study the following information carefully and answer the questions bel
elow :

ine are the conditions f i i ;
Following 2 or selecting an ..I_T Officer in an organization.

The candidate must - 2
® be 2 By I /5 Tech. in IT or Computer Soience with at least 60% marks

(i) be at least 20 years and not more than 2¢.years as on 01-11-2016.

(iii) have secured at least 60% marks in writtem test.

(iv) have secured at Jeast 40% marks in interview.

e of the candidate who fulfills all conditions except -

In the cas
his case be referred to as GM.

(a) at (ii) above, but is a post graduate,
(b) at (iv) above, but has secured at least 35% marks in interview and at least 70%
marks in the written test, his case to be referred to as VP.

N
e i

vy @ (66 % 70) _ | N
mwﬁmﬁmqﬁaﬁnﬁﬁa@mmﬁmz
e & IT e ¥ T % fog fret o ¥ %
waneft # -
(i) IT  #wgex &4 & B. E. / B. Tech. # ¥ ¥ 60% [+ B Tfed |
(i) 01-11-2016 ¥ T 7€ 7 ¥ F 20 T8 F & 7 26 Fafm @ AR
(i) ﬁf@aw&mﬁmﬂwmmﬁ__r .
(iv) mmﬁm%m@a&ammal g
70 s & a8 o al o aRget E ¢ fEE - O

= m(ﬁ)“’m“w@m@mamwmmm.

(b) ST (iv) W, AR TETHER § ¥ F B 5%|cr® T fafa -
o Fem %, we ¥ VP ¥ AR W X i mﬁw%aw?m%]aia

66~ Kumar was born on 19th M
_ arch, 1995. He has secured 65% m i
.62% marks in F’oth written test and interview. Which of the i"z:ollc.arl'(S - 'BE-IT' e has Scieuted
i3 enaion wing will be a course of action

A) K i N

(A) Kumar WT" be selected. (B) Datafinadequate to take a decisi

(C) Kumar will not be selected. D) Kddr will be ref a decision.

FAR &1 9= 19 91 1995 @Y . O erred as GM post.

B e e Mg ord

62% oi ST |uﬁwmﬁmﬁ 'ﬁmaﬁﬂrfﬁaa:ﬁg;?ﬁmw

?

(2) AR B TG & TR | B) Fria & ¥g s \ -

- A &

(C) I o & T & | (D) T B GM B Uiz 3 firg THT Rear

W |

212 B
i 17



6}/ Venkat wags 1,

% marks in
orn on 7th November 1989. He has secured 70%
in hijs M. Te

B. Tech. and 70% marks

interview.
: est and In
ch. He has secured 65% marks in both written t

lies ?
. 4y ta

Which of the following will be a course of action if Venkat app

(A) He Will be selecteq.

(B)

©)
(D)

Data inadequate to take a decision.

He wilj not be selected.

He will pe referred as VP post, '

Y= . - h. & 70% aie
PN TR TR 1989 o) 7o |mB.Tech.ﬁ'70%mmW@M' Tec 3
S fy ¥ |mﬁ1ﬁav&mqﬁmﬂﬁnaﬁﬁr65%aﬁsmﬁiﬁ% |

ﬁhmm%&mﬁémﬂﬁﬁﬂl(courseofaction)aﬁ?ﬁ'@"h g
(A) SEH T B W

(B) ﬁﬁnﬁ%%‘gmmﬂh%‘l

©) SHHT TG T ey

(D) WVPq‘te%ﬁﬁmﬁmmnl

68 Lata has secured 78¢, marks in written test and 38% marks in the Interview. She secured 62%
in B. Tech-IT and was bom on 12th Jan. 199 Which of the followmg Will be 3 course of action
if Lata applies ?

(A)  She will be selected.

(B) She will be offered VP post.

(C)  She will not be selected.

(D)  She will be offered GM post.
mi%ﬂaav&mﬁm%mm%&%am%%mmwﬁm _

[ 62% | S 12 SEd 199] gy T g | S8 B. Tech-IT
¥ 62% 3% W fpd @ SEw | Ea“mluﬁm -
& @ I (course of action) & & arf 7 T B ¥, @ Prey A
(A) SUD T § g |
(B) VPR G gy sty &1 wdn |
(C) ST T T gy |
(D) I OM @ v o e & s |

18
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h "
July 1991. She did her graduation
and Post-grady

m on 26!
n/s below will lead to |
1er selected as
the GM -
?

atj .
tion in computer

fy Disha was bo
science. Which conditio

(i) She secured 68% in graduation.

(ii) She secured 65% in M.E.

(iii) She secured 63% marks in written test and 74% marks in interview.
(a) Both (i) and (i) (B) (iii) Only
©) (1) Only (D) Both (i) and (iii)
fasnasmﬂ%@mi 1991 @ g3 &l amﬁmmaﬁqﬁmmmmmﬁm .
ﬁmﬁﬂﬂﬂ@rsﬁaﬁGM$aﬁTﬂaﬂﬁﬂﬁ%a&aﬁrﬁm@ﬁ ?

(i) aﬁﬂqﬂaﬁﬂw%wmﬁg [

iy &M E ¥ 65% o® W< EY |

(iii) Gﬂﬁrﬁﬁﬁwﬁmﬁ&%aﬁiammamﬁﬂ%amwgq !
@) () 3T Cill @) fad (iii)
) fab (0 (D) (D) e (iii) 3T

2. Which condition(s) below will lead to her

79~ Meghna completed B- Tech. in IT in the year 201
ed as the IT officer 7

(i) She secured 65%
rm on 4t Nov. 1990.

select
marks in the written test.

(ii) She was bo
(iii) She secured 50% marks in interview.
(A) Both (i) and (iii)
(B) Both (i) and (iii)
(C) Both (i) and (ii)

(D) Data provided a
arer & @ 2012 F ITH B. Tech. qu f&a1 | P W E

a3 & o onET w7
(i) m%ﬂiﬁwﬁmﬁﬁ%aﬁmﬁ%ﬁﬁ

(i) vEH T 4 T 1990 @i gam &t |
(i) o aaTrT & 50% o wrd g1 |
(A) (0) @it (iii) @
B) (i) &t (iii) AT
©) (i) & (i) Gigl

(D) oy iy wr i @ ¥g o ¥
19
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71 Statemem o

.+ = Gokul is the only son of Suresh and Ranl.
CDnClusm"S = () Suresh and Rani have one son.

(I1) Gokul has one sister.
Choose the c

orrect conclusion Onl conc|USi°", I is va:;dis Tt

(A) Only conclusion 1 s valid (B) n.yh ¢ conclusion I or
(©)  Either conclusion | or 11 is valid (D) Neithe
W“ﬁ?ﬁ@ﬁwﬁgﬁrwh%f
Framd - () 91 T o et 1

(D) Mgt & w qo & 4
o ' Propd 11 3 ¥ |
(A) b Fress | ay 3 | . . (B) fuk PR SO
©) = 3 e 1oy 4y & | (D) 7 d forerd

12/ Jyoti has inviteq her three

i hop flashes briefly
er Pizza. In between the overs, the phone number of a pizza shop

i elow.
and they al| try to remember it and tried to recollect the numbers as ilzs :ed ;
() All the four have agreed that the first three. numbers are :
(i)  Two of them agree that the fourth number is 9.
(iii)) Two of them said that the fifth number is 6. 8 a3d
(iv)  Three of them agree that the sixth and seventh numbers are 8 and 6.
Which of the number is most

likely the telephone number of pizza shop ?

aﬂﬁ#mﬁﬁqfkﬁﬁmmﬁw% |Wﬂawaﬁam%@%%aﬁmﬂ§;ﬁm

(i) = 9 geng B @ wuq §9 g (numbers) 421 ¥ |

(A) 4219668 (B) 4219696
(C) 4219686 (D) 4218686
‘}3/ According to John Bransford and Bar!-y
(P)  Exploring possible strategies
(Q) Defining and representing the problem
(R) Identifying the problem :
(S8) Looking back and evaluatin
(T) Acting on strategies .
The correct order of the above steps will be - |
ﬁqmﬂréqﬁ%ﬂ@ﬂ%am,ﬁvhw%mﬁ@mﬁ_
(P) @wifed FgeTan @ ¢
(Q) ¥w &N & ufewfyq wy T BT f{?

9 T FAF & g oy gt el
) 3% CaREIL

Stein, the steps involved in decision making are

g the effects of one’s activitieg

T) FHEETW

(as)zq’f 1 W A B -

(R), (Q)s (?)’ (S), (D) (E) (R), (Q), (P), (T), )
(A) (R) (S) (Q), (P), (T) (D) (R), (S, (T, (P), Q)
©) i

%
212 B



for the following 8 (eight) questions no. 74 to 81 :

Directions

ns are based on the following passage in English
Sh 1o test the ¢

L”mprehenﬂinn

uestio
estions do not have Hindi Versi
sion,

ge and therefore these qu

.74%81)*&&'1’#8‘[:

The following 8 4
of English Langua

?eﬁ?aﬁ'&ﬂw%ﬁ:ﬁmgﬁwm%h“t
& B

nobody would get anywhere. Individual

d be getting in everybody else’s way and

Wy There is a danger of the world getting lj_t_)_e_gty-dmnm
Jays like the old lady with the basket, and it is just as well to remind ourselves of what the rule of
th; road means. It means that in order that the liberties of all may be preserved, the liberties of
iled. When the policeman, say, at piccadilly 5@_!;5, steps into the middle of
f liberty. You may not think so.

everybody must be cu
| not of tyranny, but 0
f office, feel that your

the road and puts out his !
a hurry, and seeing your car pulled up by his insolence O
fere with your free use of the public highway 9

«How dare this fellow inter
you will reflect that if he did not interfere with you, he would
illy circus would be a maelstrom that you

Id be that piccad
ailment of private liberty in order that you may

You, may being in
liberty. has been outraged.
Then. if you arc @ reasonable person

interfere with no one, and the result wou
You have submitted to 2 curt

would never Cross at all.
liberty a reality.

enjoy 2 social order which your

74 From option given below which word closely relates to the word “Lawlessness™ ?
'—_-——-'.:-.-_. i

(A) liberty
(B) anarchy
(C) reasonable

(D) prescrved

75  Which statement describes the word “Reduced” ?
—— )

(A) The liberties for everybody must be curtailed.

(B) Liberties of all may be preserved.

(©) lndividgal liberty would have become social anarchy.

(D) You may enjoy a social order which your liberty a reality,

212 B 21



below.
tence

d from given sn

l y ed wWOor

? Find the closest Synonyms of the underlin

He is the Symbol not of tymnny but of liberty.

(A) Monarchy
(B) Autocracy
(©) Democracy
(D)

None of thege

27' Find the noun from ¢

4 e.
he given options based on provided Sen:::egstrom that you would Beve
... the result would pe that piccadilly circus would be a A
Cross at g »
(A) Piccadilly
(B) Circus
© maelstrom
(D) an of abovye
78  Find the clogegt antonym of the underlined worg from given sentence
The liberties of all may pe preserved.
(A) Undecomposed
(B) Unpolluteq
(C) Decomposed
(D) Maintaineq
79 Select the correct optiong that best describe the foilowmg Statement
Crossing Cveryone path May not leed g anywhere
A) Everybody would be getting in Cverybody else’s wq n
EB) Individual liberty woulq have become social Stabiljty : nObOdy Xenk 8% anyvwhere.
(€) Preservmg liberties of everybody must be Curtaileq
(D)  None of the above
80

ed on Provideq sentence
feel that your liberty has been Outraged »
(A) feel
(B) libert)f
(C)  outraged
(D) been

81  Find the opposite of the worg “Witless™ from the givep, Optiong
(A) anarchy
(B) curtailed
(C) reasonable
(D) insolence

22
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Q. No. (82 - 84)
For a job in a company, a candidate must fulfill the following criteri
Age should be from 24 to 30 as on 15" Feb 2021. Lt
Must have secu in B. Sc. Maths.
ths or Statistics with at least 65% marks,

have done postgra
nece of at least 2 years.

in written test and

red atleast 58%
duate in Ma

—

- Must
Must have an experie

cured 60% 50% in the interview.

Must have S¢

mgar(sza&t)
)Emsﬁﬁﬁaﬁ%mﬁ@mm%

ﬁ'ﬁt%ﬁfﬁ%ﬂ (job
15mﬁ2021a:ﬂaw24a30ﬁmﬁil
B.Sc.:rﬁafimﬁmss%aiﬁatﬁiﬂﬁmmaﬂﬁl
m%méS%iﬁ%munﬁammﬁmﬁﬁWMaﬁal
mﬁmzﬁmaawamamr
ﬁfﬁaqﬂmﬁw%q&mmﬂzﬁm%

=

qrE &F aed |

then which of the following criterion / criteria is not

Yogesh fulfills all the above criteria,
essential for selection ?
(i) He was born on
(i) He completed his graduation with 6
(iii) He has worked for 3 years in MNO company.
(iv) He secured 65% in post-graduation in maths.
(v) He got 60% in written test and 60% in the interview.

(A) (iii) Only
B) (i), (ii), (iii) and (iv) Only

©) (i), (i), (iii), (iv) and (V) All
ation, he will not be selected.

(D) Even with all given inform
Zivirer 3 wUTiEd @9 AT9EUEl &1 gu fean HIUs/HTqUs] A
ol 781 7 G ¥, @ fre ¥ & & a1 g (selection) ¥

(i) sa@ w4 | A 1992 @ Fon dai |
iy 3ad 66% o sraduati i
(ii) ey % @y Ead @ 9wt (graduation) quf &) wd 12 df @ § 75% of®
(iii) W%WMNOa‘W‘-hi’(}masrdﬁ:amt |
(iv) Tford # eTIEas (post-graduation) ® agq 65% aien aifda fea |
(v) i ferfs whan & 60% oiiT @vaTaTt # 60% Sidh ¥I<l g |

(a) fad (iii)
(B) fad (i), (i), (iii) #rT (iv)
© @ (@), (i), (i), (iv) ofrT (v)

(D) ﬁﬂéaﬁrwaﬁ%ﬂﬁasmquﬁml
X

212 B
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Ist June 1992.
6% marks and secured 75% in class 12.



iteria is not essential

N - ; terion / ©F
83 Vijay fulfills all the above criteria, then which of the following criter

for selection ?

(i)  He has worked in a company for 4 years.
(i) He got 70% in B. Sc. Maths and 68% M $c. Statistics:

<H, .
(i) He secured 60% in written test and 54% (@ interview.

(iv) He was born on 31 July 1994. o))

(v)  His score in class 12 was 85%. 00
(A) (i) only aie @y i only
(©  (v) only (D) (i) and (iv) only
mmwmﬁwm%'mmmmﬁgmmw(selection)%g
CILCICE L

(i) T8 TH SO ¥ 4 9 o fEm ¥
(i) I B. Sc. TRT & 70% T M. Sc. FiferaiH 68% o ¥t bl |
(iif) mmmﬁmﬁGO%@mWﬁS%MWm|

(iv) Sg&I 5 3 JaE 1994 @1 g | 0
(v) 126 wer & TG @i 85% A1 | o
(A) fad (iii) (B) fd (ii)
(C) % (v) (D) fak (iii) o (iv)

84 . Aradhana fulfills all the above criteria, then which of-\the following criterion / criteria i
much essential for selection. <t criteria is very

(i)  She scored 85% in class 12. N
(ii) Her age was 26 and got experience in a %npany for 3 Verta
(iii) She completed B. Sc. Maths with 59% apdyM. Sc, Maths w't.h 66
! %.

(iv) Her score in interview was 54% and in written test it was 68%
0,

(A) (i), (i) and (iii) Only (B) (i), (i) and (iv) on
© (), (). Gii) and (iv) Only ©) (), i) and (iy) oy d
. y
Wmﬁmﬁwmsﬁﬁﬁqﬂﬁmﬁm
N S ag (selection) ¥

rads & 7
(i) @ 128 wen ¥ 85% TwHIT 9T feRaT |

(iii) a1 B. Sc. MU 59% i & |iY a9l M%, T 669, -
W) e @ AT ¥ 54% e fofew when ¥ 689 o | Ty g b
. frs O G0 ST )R G Gl oy
) fob @ @0 o () ©) % (), Gii) g
24 W)

s

A



passage and choose the most appropriate option : (Q. N
H . 0. 85 to 88
)

ucation is a label applied to the study of the purpo
se, pro
dered a branch of both, philosophy and educ Cess, nature and ideals
f. k” d th i ) ation. Educaﬁon &
pecific skill and the importing of knowledge, Jud an be
he societal institutions of education we 0f£en Sgerr::nl and
peak of.

Read the

philosophy of Ed
t can be consi
eaching and learning of s
hing broader than t

of education. i

defined a$ the t
wisdom. and is somet
onsiderci}la weak and woolly field, too far removed from the practi
: 1cal

osophers dating back to Plato and the Ancient

d.q:ful. But phil
little doubt that their work has

Many educationalists €
phasis, and there is

plication of the real world to be
rea much thogght and em
f educatiohover the milennia.

ational thinker; and educa
hilosophy and political theory.,
from their mother’s ca

. removing children
uitable to the various castes, the

f the city and care for the

ap
Greeks have given the a

helped shape the practice O
Plato is the earliest important educ

“The Republic” (his most important work on p
me methods

raising them as wards of the st d differentiating children s

highest receiving the most educationf\s? that they could act as guardians 0
less able. He believed that education-should be holistic, including facts, skills, physical discipline,
clieved the talénf and intelligence is not distributed genetically and thus is be

sQithough his proposed system of selective public education for
does not really follow a democratic model.

Aristotle considered human nature, habit and reason to be equally important forces to be cultiv
uld be to produce good and virtuous citizens. He proposed

hat repetition be used as a key tool to develop

tion is an essential element in
written around 360 B.C.)
re and

t, he advocates some rather extre

Ini
ate, an

music and art. Plato b
found in children born to all classe

an educated minority of the populati
ated

in education, the ultimate aim of which sho

that teachers lead their students systematically and t
good habits, unlike Socrates’ emphasis on questioning his listeners to bring out their own id
n ideas.

He emphasized the balancing of the fRebretical and practical aspects of subjects taught, am which
pra - ‘ , among whic

tﬁl , mathematics, music, physical education, literature, history
’ X O

n .

Duri i :
i wor:;:g‘ 31: ::aegil:t‘;z{ P;nod, t.l‘ngg%a of perennialism was first formulated by st, Thomas Aquinas
Pt .a”erenm? ist holds that one should teach those things deemed to be of
(Which are apt to change ov Pf.fope everywhere, namely principles and reagoning, not JUSt facts
er time), and that one should teach first i ning,
people, not m

techn;
ques. It was origi o :
ginally religious in nature, and it was only much | f secula
ater that a theory . r

achines or

Perennialism dev
- eloped
. N
During the Renai =
ssan . i
firs (4 R il i edce, the f[le:h skeptic Michel de M°ﬂtaigne (1533 1592) was one of the
ucation, dInusually for this ti : [
me, Montai (i yestion the
a was willing to q
igne g ol system.

Conventj i
onal wisdom
of the per; :
d the implicit o period dalling into question the who|e edifice of the educatio”
n that umv&‘s’& educated phi e educated
yeducated philosophers were necessarily Wiser than V"
nec

f;
am workers, for example
212 g
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ence between the approaches of Socrates and
S and Arist
otle 7

Wwhat is the differ
A) Aristotle felt the need for repetition (o develip; gosd ikl |
students need to be constantly questioned. 1bits in students, Socrntes
Aristotle felt that need for rote-learning: Socrates L P ates felt that
There Was no difference. 1 . inlogle learning,
Aristotle emphasizec_f on the importance of paying attention to human nature: :
emphasized upon science: s Boaaal
@@ wd AT st & T T g & 7
A) Rl %Wﬁaﬁﬁeﬁﬁﬁﬁmmﬁﬁmwﬁﬁmt -
( &ﬁmﬁ@ﬁmﬁuwﬁfaﬁmmmﬁﬁr s M
(B) m%mﬁmﬁmqﬁr,gﬁw?fm ot |
% 49 a8 fdg 7@ 41|
:g; #qﬁﬁu?ﬁaﬁeﬁfmﬁaﬁmmmﬁm,gﬂmﬂﬁﬁmﬂwﬁ?ﬁm,
: : , 0
Why do educationists consider ph:losophy a ‘weak and woolly’ field
(A)‘ It is not practical!y applicable..
B) Its theoretical concept are easily understood-
) ltis rrelevant for education.
(D) None of the above. _ )
ﬁmﬁaﬂmﬁw‘mﬁﬂam* %‘aram"ftrm?f% ?
(A) T A qry FE e | - ‘
(B) Fgifsd gaea smard & @ | amdr ¥ |
() fran @ ~riy 7F TN € |
(D) ¥4 a7
87 What do you understand by the term ‘perennialism’ in the context of the given comprehension
passage ?
(A) It refers to some thing which is of ceaseless important.
which is quite unnecessary.

B) It refers to some thing
(C) It refers to some thing W eoretical.
st and no longer exists now.

(D) It refers to some thing which is existed in the pa
' (perennialism) ¥ o qAEd 7

for Ay afvee & g A
(A) wwﬁ@%ﬁaaﬁmﬁhw%a’rﬁﬁﬁimmaﬁ%r
(B) ﬁwm’réﬁwaﬁaaﬁiam%vﬁﬁmgwiﬂmwsw%l
:g) %Waﬂs‘?ﬂam’rmﬁhm%ﬁﬁ%maﬁtﬂ@%ﬁﬁl

) me’fﬁwﬁmﬁhmmﬁa@mﬂaﬁﬁeﬂ@mmﬁqﬁ%a

88  What ;
(A) ;’::s:::;z el:i!a::) s beliefs about democratic education ?
(B) He belioved i at only the rich have the right to acquire educati
(C) He bc;!evcg in democratic education W
ieved t ; '

(D) He believed t:al only a select few are meant to attend school
wedita fiar & at all pupils are not talented s
(A) T T A A A ? '

A & 7 | & afuwr ¢ |

©€) T
S 9 4 g ot T ¥

af
212 7 Worsweh 9 ¥
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— . mprehension
Directions for the following 4 (four) questions no. 89 to 92 : pglishito test the comp

e fo“.OWi"g 4 questions are based on the following passage mHindi Version.

of English Language and therefore these questions do not have

. ther with her
. otists in history. Toge i
Bt was ot iR lor Ll ScwntIStSf mt:']eatinrg cancer, and studied
d, Pierre, she discovered radium, an element widely used for

ion later helped
| J e i able collaboration
uranium and other radioactive substances. Pierre and Marie’s amicable
to unlock the secrets of the atom.

husban

- hysics.

Marie was born in 1867 in Warsaw, Poland, where her father' was a pl'(;i;szi:] gjr:nze o
At an early age, she displayed a brilliant mind and a blithe personality. Her ircame disgruntled,
learning prompted her to continue with her studies after high school. She be Determined to
however, when she learned that the university in Warsaw was closed to women. D¢

. , a French
receive a higher education, she defiantly left Poland and in 1891 entered the Sorbonne
University,

where she earned her Master’s degree and doctorate in physics. ke
Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists o
her day,

one of whom was Pierre Curie. Marie and Pierre were married in 1895 and Spent many
productive years working together in the physics laboratory. A short time after they dlscove:red
radium, Pierre was killed by a horse-drawn wagon in 1906, Marie was stunned by this horrible

misfortune and she endured heart-breaking anguish, Despondently, she recalled their close
relationship and the joy that they had sh

ared in scientific research. The fact that she had two young
daughters to raise by herself, greatly increased her distress.
Curie’s feeling of desolation fi

om her long €Xposure to r
adium,
: ut her work. Regardless of the consequences, she had dedicated
herself to science and to revealing the mysteries of the physical world ’ e
89  The Curies collaboration helped to unlock the secr
_ . ets of th
(A) friendly (B)  competitiye ~ o,
(C) courteous

(D) industrioyg
90  Marie had a bright ming gpq

personality,
strong :
28 humorous B) light-hearteg

(D)  strange
91  When she learned that she ¢qy4 not

attend the university in W,
(C) depressed (D) Wol-ried ;
92 Marie by leaving Polang gng ravelling (o p,
(A) challenged authority (B) shc,an
(©) behaved

tl‘eSSed
212 B 28



llowing 4 (four) questions no. 93 to 9¢
The following 4 questions are based on the following PﬂSSag(: ;" i
herefore these questions do not have 1--]iernclg)'ln\ﬂ;h to test the
ersion OMprehens;
. 5

£ English Language and t
i 4 (am) weiE (@ 93 ¥ 96) ¥ foro frdar :
H&Eﬁiﬁqﬁlﬁﬂqﬁiﬂﬁwwaﬁagm S
W % i
o %

preftad 4 geerer o
m:ﬁusmsﬁﬁ%ﬂmqﬁﬁmww%l
The victory of the small Greek democ.racyf of Athen§ over the mighty Persian fr
most famous events in history. Darius, King of the Persian Em"}mre in
e other Greek - City - States in revolt again;“;fér;’:s
n

C., is one of the
thens had interceded for th
ent an enormous army to defeat Athens. He thought it would tak
<

tion. In anger. the King § )
ious part of the empire.

drastic steps 0 paci
Persia was ruled by one man. In Athens, however, all
o die for their city-state.

: e . dt
this participation, Athenians Were prepared K ‘
of the remarkable victory of Marathon, which freed them from I?er:man rule.

Kk city - states by claiming to have come

Marathon, the Persians tried to foo ! :
The frightened citizens of Delos refused to believe this. Not wanting to abet the conquest of
oft. They were Wise,

Greece, they fled from their city and did not return until the Persians had 1
for the Persians next conquered the city of Eritrea and captured its people.

Tiny Athens stood alone against Persia. The Athenian people went to their sanctuaries. There
they prayed for deliverance. They asked their gods to expedite Athenians refurbished

their victory. The
their weapons and moved t0 the plain of Marathon, where their Jittle band would meet the Persians.
At the last moment, soldiers from Plataea reinforced the Athenian troops.

The Athenian army attacked, and Greek citizens fought bravely. The power of the mighty
Persians was offset by the love that the Athenians had for their city. Athenians defeated the
Persians in both archery and hand combat. Greek soldiers seized Persian ships and burned them
and the Persians fled in terror. Herodotus, a famous historian, reports that 6,400 Persians died:

compared to only 192 Athenians.

])irections for the fo

I citizens helped to rule. Ennobled by
Perhaps this was the secret
On their way to
in peace.

] some Gree

93  Athens had the other Greek City - States against the Persians.

(A) refused help to

(B) intervened on behalf of
(C) wanted to fight

(D) given orders for all to fight

94 i i
fr;lus toolic drastic steps to the rebellious Atheni
o nians.
e o (B) destroy
(D) irritate

9 , L
S Their participation t :
t 2) VB Bt T T o the Athenians.
)  gave strength (B) " gave honour
(D) gave f
car

9%

The people of .

(A) end Delos did not want to h

(C)  think about —— the conquest of Greece.
(B) encourage

(D) daydream about

212 B
2
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to 100)

No. 97

. tion : Q- . t-past-the-

Read the Passage and choose the most appropriate OP constituencies uSIng ﬁgli-lndian
The 543 elected MPs will be elected from Smgle_-l.ne?lb:;o members from the

Post voting. The President of India nominates an addition

e o s sented.
Community, if he believes the community is under-repre

: the polling area
: resident of 0.
lgible voters must be Indian citizens, 18 or ofes an;) r-(::,zziiyby the Election Commission
of the constituency and possess a valid voter identification card i % barred from voting.
of India. Some people convicted of electoral or other offences

i
i
i

: ce the 2019 general

Earlier, there were speculations that the Present Government rmg,ht ad:ta::lunder of preponing
election to counter the anti-incumbency factor, Fowever learning fr‘om 8 P as per the normal
election made by the Earlier Government, was decided to go into electlonth st D0 i
schedule which was announced by Election Commission of India (ECI) on 10 y
which Model Code of Conduct was applied with immediate effect.

ﬁﬁqﬁ%ﬁﬁ#&ﬁ@ﬂﬁﬁm%ﬁmmmaﬁh&:@wﬂm%%lﬂﬂ)

tﬁé~m—é&—ﬁuaﬁﬁq(ﬂﬂf&mmm‘amﬁaaﬁf&m)mmm§q 543 wigd & frater |
BT Frates & @ Rear s mﬁ:,m%m;qﬁa?rm%ﬁ@ﬁiﬁmwwwﬁrﬁﬁam ‘
%,?ha‘rm&fﬁaamdfﬁm%mﬁﬁa%mm%l

T Ry (anti-incumbency) ey ¥ W T e e

» WY et e
T T mh o (blunder) 3 9 9 75 oy o 1 =T R T g
Wﬁiﬂaﬁﬁwmw%m

AL A T

97 Which word o phrase means “djsq

PProval of currep, Politica]

(A)  First - pagt . the . post B) Bly, e ﬁiceh()lders” In the passage ?
ety r
(C) Anti InCumbency (D) Mo del G654
w&mﬁﬁm%mmmwmaﬁ‘ﬁm eOfCO“dUCt
(A) W‘W‘a“ff"a (B) %2;&% i Ty RS
(C) e R (s ) D) e (e
3
98  Since when was the Mo, Code of Conduct applieq
(A) 23 May 2018 " i
(B) 1Qth ate eff
(C) 10 March 2018 ct 9

. | 0) i arch 2019
mﬁwaﬁmﬁﬂﬁmémgw@%m e 50,
(A) 23 2018 . ?

(© 1072018 )

Il Ay
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- M) iy, (ji:

-

president of India nominate an additional two members f
S from th
e AI‘I
2o Yna
Ny,

d a representative

nglo-Indian Community i :
hat the Ang y is under-representeq
the Anglo-lndian Community is over-represented

Wwﬁaﬁﬁaaﬁaﬂﬂ??

est
(D)

(A)
(B)

©)
D) wmﬁﬁraﬁﬁ'

s to vote in India ?

What are the mandatory requirement

(i) Must be an Indian citizen
(i) Must be 18 or older

Must have a valid criminal record

(iii)
he polling area of the constituency

(iv) Must be an ordinary resident of t

(v) Must posses a valid voter identification card issued by the Election Commission

of India.
Choose the correct options :
(A) (i), (i), (iii) 50
© Gy, Gii), G), (v), (v) ((E; ((::)) (l) (V?’ e
o A e R B R W B 3 A 6
(i) 9@ T & -
(i) 18 31 38 sfyes 3w B
(i) &y OUfus frmré &

4y (i), (i), (iii)
(C) (i), (i), (i), (iv), (v)

» (v)
W‘



